

The Effectiveness of Spirituality Therapy on Distress Tolerance and Resilience in Patients with Migraine

Azizollah. Saberi¹, Seyed Ali. Kolahdozan², Maryam. Moghimian^{3*}, Sheida. Jabalameli⁴, Rohollah. Mosavizadeh⁵

¹ Ph.D. Student in Health Psychology. Department of Health Psychology. Na.C., Islamic Azad University, Najafabad, Iran

² Assistant Professor, Behavioral Sciences Research Center, Isfahan University of Medical Sciences, Isfahan, Iran

³ Associate Professor, Department of Psychiatric Nursing, Na.C., Islamic Azad University, Najafabad, Iran

⁴ Assistant Professor, Department of Health Psychology. Na.C., Islamic Azad University, Najafabad, Iran

⁵ Assistant Professor, Department of Islamic Sciences, University of Isfahan, Isfahan, Iran

* Corresponding author email address: Maryam.moghimian@iau.ac.ir

Article Info

Article type:

Original Research

Section:

Rehabilitation Counseling

How to cite this article:

Saberi, A., Kolahdozan, S. A., Moghimian, M., Jabalameli, S., & Mosavizadeh, R. (2026). The Effectiveness of Spirituality Therapy on Distress Tolerance and Resilience in Patients with Migraine. *KMAN Counseling and Psychology Nexus*, 4, 1-15.

<http://doi.org/10.61838/kman.rc.psynexus.5797>



© 2026 the authors. Published by KMAN Publication Inc. (KMANPUB), Ontario, Canada. This is an open access article under the terms of the Creative Commons Attribution-NonCommercial 4.0 International (CC BY-NC 4.0) License.

ABSTRACT

Migraine is a chronic neurological disorder associated with reduced distress tolerance and resilience. The present study aimed to determine the effectiveness of spirituality therapy on distress tolerance and resilience in patients with migraine. In a clinical trial study, patients with migraine attending neurology and counseling clinics in Bam were examined. Through cluster sampling, 44 eligible patients were selected and randomly assigned to intervention and control groups. In addition to pharmacotherapy, the intervention group received 10 sessions of spirituality therapy. The control group received pharmacotherapy. Data were collected using a demographic information form, Gaher's Distress Tolerance Scale, and Connor's Resilience Scale, which were completed at pretest, posttest, and one-month follow-up. Data analysis was performed using descriptive and analytical tests in SPSS version 20. The frequency distribution of demographic characteristics was homogeneous in the two groups. Before the intervention, there was no significant difference between the intervention and control groups in the mean scores of the variables. After the intervention, the mean scores of distress tolerance ($P = 0.002$) and resilience ($P < 0.001$) in the intervention group showed significant changes compared with both the pre-intervention stage and the control group. The differences in the aforementioned mean scores during the follow-up period compared with before the intervention were significant in the two groups ($P = 0.005$; $P = 0.02$). The effect size of the intervention was 0.992 for distress tolerance and 1.59 for resilience, indicating a large effect of spirituality therapy on these variables. The results showed that spirituality therapy, alongside medical treatments, can be effective in the short term in improving distress tolerance and resilience among patients with migraine. The long-term effects of these interventions should be examined so that they can be recommended for managing these psychological states during the course of the disease.

Keywords: spirituality therapy, distress tolerance, resilience, migraine

1. Introduction

Migraine is a chronic and recurrent neurological disorder that extends beyond episodic headache and affects emotional regulation, cognitive functioning, interpersonal relationships, occupational performance, and overall quality of life. Contemporary clinical descriptions emphasize that migraine is characterized by recurrent attacks of moderate to severe headache, often accompanied by nausea, photophobia, phonophobia, sensory hypersensitivity, and functional impairment, and its diagnosis requires careful attention to headache pattern, duration, associated symptoms, and exclusion of alternative causes (Tzankova et al., 2023). Although migraine is commonly approached through neurological and pharmacological frameworks, its lived experience is deeply psychological, because repeated attacks expose patients to unpredictability, loss of control, anticipatory anxiety, fear of recurrence, and disruption of daily routines. Patient-centered qualitative evidence has shown that individuals with migraine frequently describe the disorder as a condition that interferes with identity, family responsibilities, social participation, emotional stability, and perceived autonomy, thereby demonstrating that migraine is not merely a pain condition but a complex biopsychosocial experience (Estave et al., 2021). In Iran, migraine is also an important public health concern, and systematic evidence on its prevalence highlights the need for psychological and behavioral interventions that can be integrated with medical care to reduce the burden of the disorder and improve adaptive functioning among affected individuals (Mohammadi et al., 2023).

The burden of migraine is not limited to symptom severity; it is also reflected in healthcare resource utilization, productivity loss, and persistent impairment across personal and social domains. Evidence from European population-based data indicates that people with migraine experience considerable incremental burden and increased healthcare use, suggesting that migraine imposes substantial costs on patients and health systems even when pharmacological treatments are available (Gendolla et al., 2024). This burden is intensified when patients experience frequent headaches, severe pain, comorbid emotional symptoms, or maladaptive coping patterns. Psychological factors have consistently been identified as important correlates of headache frequency, pain intensity, and migraine-related disability, indicating that emotional and cognitive processes may influence both the perception of migraine and the degree of

impairment caused by it (Klonowski et al., 2022). More recent psychological accounts of migraine similarly emphasize the roles of stress, emotional dysregulation, catastrophizing, coping style, and resilience in shaping patients' adaptation to the disease (Yu & Tan, 2024). Therefore, a comprehensive intervention model for migraine should not be limited to reducing pain intensity, but should also address the psychological resources that help patients tolerate distress, maintain meaning, and recover from repeated episodes of physical and emotional strain.

Distress tolerance is one of the key psychological capacities involved in adaptation to chronic pain and recurrent illness. It refers to the perceived and actual ability to endure negative emotional states without becoming overwhelmed, avoidant, impulsive, or functionally impaired. In patients with headache disorders, low distress tolerance may lead to increased emotional reactivity, greater preoccupation with pain, avoidance of daily activities, and reduced ability to manage uncertainty associated with future attacks. Research on migraine patients has shown that distress tolerance is associated with headache severity, suggesting that patients who have greater difficulty enduring negative affect may experience migraine as more severe and disabling (Ozturk & Sertel Berk, 2022). The measurement of distress tolerance in headache populations has also received psychometric attention, and evidence from women with tension-type headaches has supported the validity and reliability of the Distress Tolerance Scale in assessing this construct in pain-related contexts (Tofangchi et al., 2022). Since distress tolerance is closely tied to emotional regulation, patients with migraine who have limited tolerance for distress may be more vulnerable to anxiety, hopelessness, anger, and helplessness during or between migraine attacks.

Resilience is another central psychological construct in chronic illness adaptation. It refers to the capacity to maintain or regain psychological equilibrium in the face of adversity, stress, illness, and functional limitations. In migraine, resilience is particularly important because patients must repeatedly cope with unpredictable pain, interruption of life plans, reduced productivity, and the psychological consequences of chronicity. A cross-sectional study on migraine demonstrated meaningful associations among resilience, stress, and headache-related disability, indicating that resilience may buffer the negative effects of stress and contribute to better functioning in individuals with migraine (Buse et al., 2020). In clinical intervention research, Acceptance and Commitment Therapy has also

been shown to improve resilience in migraine patients, supporting the view that resilience is modifiable and can be enhanced through structured psychological intervention (Esmaeili et al., 2021). These findings suggest that strengthening resilience may help patients reinterpret their illness experience, maintain adaptive functioning, and preserve hope despite recurring pain.

The relationship between resilience and distress tolerance is theoretically and clinically important. Distress tolerance reflects the individual's capacity to remain present with unpleasant internal states, whereas resilience reflects broader adaptive recovery and psychological flexibility in the face of adversity. In populations exposed to acute relational and emotional stress, interventions targeting uncertainty, compassion, coherence, resilience, and distress tolerance have shown that these constructs are responsive to psychological treatment and can be improved through systematic therapeutic work (Heydari et al., 2026). In chronic illness, these constructs may operate together: distress tolerance enables patients to endure the immediate emotional burden of pain, while resilience supports longer-term adaptation, meaning reconstruction, and continuity of valued life activities. Accordingly, interventions that simultaneously enhance distress tolerance and resilience may be especially useful for patients with migraine, because the disorder requires both moment-to-moment emotional endurance and sustained adaptive coping across time.

Non-pharmacological and psychological interventions have increasingly been recognized as important components of migraine management. Systematic review evidence indicates that patient education and cognitive-behavioral interventions can be effective as non-pharmacological approaches for adults with migraine, particularly by improving self-management, reducing maladaptive responses, and strengthening coping capacities (Meise et al., 2022). Mindfulness-based interventions have also been examined in migraine populations, and meta-analytic findings suggest that these approaches can influence migraine-related outcomes by improving awareness, acceptance, emotional regulation, and stress management (Liao et al., 2025). Broader evidence on psychological interventions for physical pain highlights the relevance of targeting catastrophizing and resilience, because these variables substantially influence pain perception, disability, and recovery trajectories (Leccese et al., 2025). These developments indicate that migraine care is moving toward integrative models in which pharmacotherapy is complemented by interventions that address cognitive,

emotional, behavioral, existential, and interpersonal dimensions of illness.

Among integrative psychological approaches, spirituality-based interventions have attracted increasing attention in chronic pain and chronic illness research. Spirituality is generally understood as a search for meaning, connection, transcendence, inner peace, and relationship with the sacred or ultimate values; it may be expressed through religious beliefs, personal meaning systems, meditation, prayer, forgiveness, gratitude, compassion, or existential reflection. Spirituality and religiosity can influence mental health in different ways, and contemporary discussions emphasize the importance of distinguishing adaptive spiritual resources from rigid or conflictual religious experiences (Dubey et al., 2025). In psychotherapy, spiritual struggles such as guilt, anger toward God, perceived abandonment, existential doubt, and conflict between illness and belief systems may become clinically relevant and should be addressed with sensitivity, ethical awareness, and therapeutic competence (Pargament & Exline, 2021). For patients with migraine, spirituality therapy may provide a framework for reconstructing meaning, reducing self-blame, strengthening hope, and developing a more compassionate relationship with the body and illness experience.

The empirical literature on spirituality, pain, and coping provides a strong rationale for applying spirituality therapy to patients with migraine. In chronic pain populations, spirituality has been associated with pain, functional status, and coping, suggesting that spiritual resources may influence how individuals interpret pain, tolerate suffering, and maintain psychological functioning (Ferreira-Valente et al., 2020). Research on spiritual wellbeing, pain catastrophizing, and pain perception has further shown that spiritual wellbeing may be meaningfully related to how pain is appraised and experienced, particularly when individuals face ongoing pain conditions (Luedtke & Wachholtz, 2025). In cancer-related pain, spirituality has also been identified as an important dimension of pain experience, shaping how patients describe suffering, hope, connection, and endurance (Miller et al., 2024). Similarly, research among post-treatment cancer patients has shown that the relationship between spirituality and pain may be mediated by meaning in life and pain coping strategies, indicating that spirituality may affect pain adaptation through meaning-making and coping mechanisms (Krok et al., 2025). These findings are highly relevant to migraine because migraine patients often struggle not only with pain itself but also with the meaning, unpredictability, and emotional burden of recurrent attacks.

Spirituality has also been repeatedly linked to resilience in chronic illness and adversity. A systematic review and meta-analysis found a positive relationship between spirituality or religiosity and resilience, indicating that spiritual resources may contribute to adaptive functioning under stress (Schwalm et al., 2022). Another systematic review and meta-analysis focusing on chronic disease showed that spiritual and religious interventions can be effective in improving resilience among patients with chronic illnesses, supporting the clinical relevance of spirituality-based care in long-term health conditions (Dehghani et al., 2021). A mixed-methods systematic review among older adults with chronic illness further identified spirituality and religiosity as sources of resilience, showing that patients may draw on faith, meaning, prayer, connection, and acceptance to endure illness-related difficulties (Abu et al., 2026). In a large international study of care leavers, spirituality was also positively associated with resilience and well-being, suggesting that spiritual resources can support adaptation across diverse populations exposed to adversity (Howard et al., 2023). These findings collectively support the proposition that spirituality therapy may strengthen resilience in patients with migraine by enhancing meaning, acceptance, hope, and perceived inner support.

Clinical studies conducted in Iranian cultural and health contexts also support the relevance of spirituality-based interventions for pain-related and chronic conditions. Spiritual therapy based on Iranian culture has been shown to improve resilience in patients with chronic pain, suggesting that culturally congruent spiritual frameworks may be particularly meaningful for Iranian patients coping with persistent pain (Haddadi Kuhsar et al., 2019). In patients with multiple sclerosis, spirituality therapy has demonstrated beneficial effects on resilience and biological stress-related indicators, highlighting its potential role in improving psychological adaptation in chronic neurological disease (Karimi et al., 2020). Spirituality therapy has also been found effective in improving psychological distress and resilience among patients with thalassemia, another chronic condition requiring long-term coping and emotional endurance (Yousefian et al., 2020). In women with tension headaches, Islamic spirituality-based treatment has been compared with quality-of-life therapy and shown to influence distress tolerance, stress, anxiety, and depression, indicating that spiritual intervention may be relevant for headache-related psychological symptoms (Kajbaf et al., 2017). These culturally grounded studies are important

because spirituality therapy is most clinically meaningful when it is adapted to patients' values, language, religious background, and lived experience.

At the same time, spirituality-based interventions in pain management require careful conceptualization and structured implementation. Spiritual interventions in multimodal pain management have been described as potentially valuable when they are integrated ethically, respectfully, and in accordance with patients' beliefs and preferences (Kieselbach & Frede, 2024). The intervention should not impose belief, replace medical treatment, or reduce illness to moral or religious failure; rather, it should help patients use spiritual resources to regulate emotion, reinterpret suffering, strengthen connection, and develop acceptance. This distinction is particularly important in migraine, because patients may experience guilt, helplessness, spiritual conflict, or frustration with the body. A structured spirituality therapy program can help patients identify maladaptive spiritual interpretations, reduce self-blame, cultivate self-compassion, strengthen trust and hope, and use spiritual practices such as prayer, meditation, gratitude, forgiveness, and meaning-oriented reflection as psychological coping resources.

Despite the growing evidence on spirituality, resilience, chronic pain, and psychological interventions, the specific application of spirituality therapy to migraine remains relatively underdeveloped. Studies on migraine have examined psychological variables such as resilience, stress, distress tolerance, catastrophizing, meaning in life, perceived social support, spiritual well-being, and quality of life, but intervention studies that directly target spirituality-based mechanisms in migraine patients are limited (Yousefi Afrashteh et al., 2023). Existing non-pharmacological interventions such as cognitive-behavioral treatment, patient education, mindfulness, and acceptance-based approaches have provided useful evidence, yet they do not fully address the existential and spiritual struggles that may accompany chronic migraine (Esmaeili et al., 2021; Liao et al., 2025; Meise et al., 2022). Moreover, although spiritual therapy packages have been developed and tested for various chronic conditions, migraine-specific spirituality therapy requires attention to the unique features of migraine, including episodic unpredictability, sensory sensitivity, fear of attacks, disruption of identity, and repeated confrontation with pain. In this regard, a spirituality therapy package specifically designed for migraine patients and evaluated in relation to pain intensity, pain catastrophizing, distress tolerance, and

resilience provides a relevant basis for the present study (Saber, 2026).

Taken together, the literature indicates that migraine is a multidimensional neurological and psychological condition in which distress tolerance and resilience play essential roles in adaptation, and spirituality therapy may offer a culturally meaningful and clinically relevant method for strengthening these capacities. Evidence from migraine research shows that psychological factors influence headache-related disability and patient functioning (Buse et al., 2020; Klonowski et al., 2022; Yu & Tan, 2024), while evidence from chronic pain and chronic illness research shows that spirituality can support coping, meaning-making, resilience, and emotional regulation (Abu et al., 2026; Dehghani et al., 2021; Ferreira-Valente et al., 2020; Schwalm et al., 2022). Therefore, integrating spirituality therapy with medical care may help patients with migraine not only tolerate distress more effectively during pain-related emotional states but also maintain resilience in the face of recurrent illness. The present study aimed to determine the effectiveness of spirituality therapy on distress tolerance and resilience in patients with migraine.

2. Methods and Materials

2.1. Study Design and Participants

The present study was conducted as a clinical trial with a one-month follow-up period. The study population consisted of all patients with migraine who attended two neurology treatment centers and four public and private counseling centers in Bam, Kerman Province, Iran, between September 2025 and March 2026. The estimated population included approximately 480 patients who had referred to the selected centers during 2025. The final sample consisted of 44 eligible patients who met the inclusion criteria and were selected through cluster sampling. For this purpose, all neurology and counseling centers were first reviewed, and centers that had patients with migraine in their admission records were selected. Then, eligible patients in each center were identified according to the inclusion criteria. To ensure fair allocation and reduce selection bias, participants within each cluster were randomly assigned to either the intervention or control group using online randomization software by the research assistants. Although the study centers were selected based on their service provision to patients with migraine, the non-random selection of centers may have introduced environmental confounding variables, such as differences in service management, the

psychological atmosphere of the setting, or access to ancillary services. To control these possible effects, baseline homogeneity between the two groups was examined at the pretest stage, which helped neutralize the influence of potential environmental confounders to a considerable extent. The inclusion criteria were being between 20 and 60 years of age, having a confirmed diagnosis of chronic migraine by a neurologist based on the criteria of the International Headache Society, having at least three months elapsed since diagnosis according to criterion A of the International Classification of Headache Disorders, third edition, and having a history of headache with migraine characteristics for at least three months, defined as headache occurring on 15 or more days per month for more than three months. Other inclusion criteria were not receiving concurrent psychotherapy or spirituality therapy during the previous six months, not having another disabling chronic disease, and being willing to participate in the study. The exclusion criteria were absence from more than two spirituality therapy sessions, failure to complete homework assignments for three consecutive sessions, development of an acute psychiatric disorder or medication use based on self-report, changes in the pharmacological treatment regimen during the study, incomplete completion of questionnaires, and unwillingness to continue participation. The sample size was estimated using G*Power statistical software version 3.1.1 based on repeated-measures analysis of variance. With a significance level of 0.05, statistical power of 0.90, a medium effect size of 0.70, and two repeated measurements considered in the sample-size estimation, the required sample size was calculated as 40 participants. Considering possible sample attrition, 44 participants were finally selected and allocated to two groups of 22 participants each.

2.2. Measures

The demographic and clinical information form was used to collect participants' background characteristics and disease-related information. This form included age, gender, marital status, educational level, economic status, duration of migraine, history of medication use, history of non-pharmacological treatments, and pain intensity. Pain intensity was assessed using a visual pain scale. This form was completed by participants at the pretest stage and was used to describe the sample and examine the homogeneity of the intervention and control groups before implementation of the intervention.

The Distress Tolerance Scale was developed by Simons and Gaher (2005) to assess an individual's perceived capacity to tolerate negative emotional states. This scale contains 15 items scored on a five-point Likert scale ranging from 1, indicating "strongly agree," to 5, indicating "strongly disagree." Six items are reverse-scored. The scale includes four subscales: tolerance, including items 1, 3, and 5; absorption, including items 2, 4, and 15; appraisal, including items 6, 7, 9, 10, 11, and 12; and regulation, including items 8, 13, and 14. The total score ranges from 15 to 75, with higher scores indicating greater distress tolerance. The content validity and reliability of the Persian version of this questionnaire were confirmed in the study by Tafangchi et al. (2023), and its Cronbach's alpha coefficient was reported as 0.96. In the present study, this scale was completed by participants at the pretest, posttest, and one-month follow-up stages.

The Connor-Davidson Resilience Scale was developed by Connor and Davidson (2003) to measure the ability to cope with difficulties, adversity, and stressful life conditions. The original version consists of 25 items scored on a five-point Likert scale ranging from 0, indicating "never," to 4, indicating "always." The scale includes five subscales: perception of personal competence, including items 10, 11, 12, 16, 17, 23, 24, and 25; trust in personal instincts and tolerance of negative affect, including items 6, 7, 14, 15, 18, 19, and 20; positive acceptance of change and secure relationships, including items 1, 2, 4, 5, and 8; control, including items 13, 21, and 22; and spiritual influences, including items 3 and 9. The total score ranges from 0 to 100, with higher scores indicating greater resilience. Abdi et al. (2019) standardized this scale in Iran and confirmed its content validity. They also reported a Cronbach's alpha coefficient of 0.94 for the total scale. In the present study, this scale was completed at the pretest, posttest, and one-month follow-up stages.

2.3. Intervention

After obtaining the ethics approval from Islamic Azad University, Najafabad Branch, and coordinating with the research settings, the first researcher attended the treatment and counseling centers during working hours, reviewed patients' records, and contacted eligible individuals by telephone to invite them to participate in the study. Participants were asked to attend the relevant center at a specified day and time and participate in an orientation session. Patients were met in one of the offices of the

selected centers, where the necessary explanations about the study were provided. After completing the demographic information form, participants were further assessed for eligibility. Those who met the inclusion criteria signed the written informed consent form, verbally declared their readiness to participate in the spirituality therapy program, and completed the Distress Tolerance Scale and the Connor-Davidson Resilience Scale. After completion of sampling and allocation into the two groups, participants in the intervention group were invited to an awareness session at the relevant centers. In addition to pharmacotherapy, the intervention group participated in 10 weekly spirituality therapy sessions, each lasting 90 minutes, at a private counseling center, Robin Counseling Center. The sessions were conducted by the first researcher under the supervision of the second researcher. The spirituality therapy package had been specifically developed for patients with migraine in another study conducted by the researchers of the present study through interviews with 25 patients with migraine and specialists in psychology and spirituality therapy, as well as through a review of the literature. Its applicability had also been evaluated in two expert panels. The sessions were implemented in a group format. At the beginning of each session, the researcher briefly introduced the topic through an interactive lecture. This was followed by supervised group discussion, question-and-answer interaction, and assignment of homework. At the beginning of subsequent sessions, previous homework assignments were reviewed and participants' questions and ambiguities were addressed. The intervention began with establishing rapport, forming a therapeutic alliance, creating a safe and accepting group atmosphere, and introducing the spirituality therapy approach. Subsequent sessions focused on identifying and reconstructing guilt-related beliefs associated with conflicts in servitude, divine justice, and divine providence; identifying and reconstructing beliefs related to harmful socio-spiritual agency caused by projection of illness; rebuilding damaged self-esteem through modification of beliefs related to fear of the future and dissatisfaction with the self; strengthening self-awareness, hope, and meaning in life through a spirituality-oriented approach; reducing feelings of disconnection from the world and dark views of life through reconciliation with creation and reconnection with the world; strengthening acceptance of divine decree and trust in God's providence; developing collective spirituality through connection-seeking and shared spiritual space; enhancing spiritual self-awareness through attitude modification, self-control, stress management, relational

boundary-setting, spiritual attraction, and self-accountability; and finally reviewing the sessions, evaluating participants' satisfaction, identifying spiritual and behavioral changes, and developing a personal plan for maintaining the spiritual path. Techniques used across the sessions included active listening, reflection of emotion and meaning, open-ended questions about spirituality, spiritual meditation, psychodrama-based reverse role-play, narrative rewriting, inner dialogue, self-compassion, meaning-making of suffering, gratitude exercises, connection with nature, imaginary dialogue with a spiritual reference, group sharing of emotions, sacred-bond exercises, cognitive-spiritual restructuring, stress-management exercises, spiritual rumination reduction, and writing letters to the self. Homework assignments included emotional journaling, self-forgiveness exercises, reflection on meaning, forgiveness and release of anger, rewriting life narratives from the perspective of compassion and divine acceptance, identifying daily goals, focusing on positive daily experiences, writing a letter to the earth and sky, designing an alternative worship plan, developing a collective peace pledge, determining meaningful priorities, and preparing a weekly plan for continuing spiritual practices. The control group did not receive the spirituality therapy program and continued pharmacotherapy only. Immediately after completion of the intervention, participants in the intervention group completed the questionnaires again during the final session. One month later, they were contacted by telephone and asked to attend the same center for follow-up assessment, where their condition was reviewed and the questionnaires were completed again under the supervision of the first researcher. In the control group, the questionnaires were also completed immediately after the study period and again one month later following telephone coordination and attendance at the relevant center. At the final session, educational questions and needs of the control group participants were addressed.

2.4. Data Analysis

Data were analyzed using SPSS software version 20. Descriptive statistical indices, including frequency, percentage, mean, and standard deviation, were used to describe demographic and clinical characteristics and the main study variables. Analytical tests, including the independent-samples t-test, paired-samples t-test, and chi-square test, were used to compare groups and assess within-group changes where appropriate. Repeated-measures

analysis of variance was applied to examine within-group changes over time and the group-by-time interaction effect, and the LSD post hoc test was used for pairwise comparisons. The significance level was set at 0.05. Before conducting inferential analyses, the normality of the distribution of the distress tolerance variable at the pretest and posttest stages was examined using the Shapiro-Wilk test and was confirmed. The results of Levene's test also showed that the assumption of homogeneity of variances was met for the study variables. In addition, Box's M test indicated equality of covariance matrices for distress tolerance and resilience. Mauchly's test of sphericity was not statistically significant; therefore, the assumption of sphericity was also satisfied. The results of repeated-measures analysis of variance showed that the main effects of time and group, as well as the interaction effect of time and group, were significant for the study variables. These findings indicated significant differences between the intervention and control groups in the mean scores of distress tolerance and resilience across the measurement stages and showed that spirituality therapy significantly improved these variables in the intervention group. Moreover, the results of multivariate analysis of variance based on Wilks' lambda for the group-by-time interaction showed a significant difference in the linear combination of distress tolerance and resilience scores, indicating that spirituality therapy had a significant effect on participants' score changes over time. The results of other multivariate statistics, including Pillai's trace, were also consistent with Wilks' lambda and further confirmed the significance of the intervention effect on distress tolerance and resilience.

3. Findings and Results

Data obtained from 44 patients with migraine were analyzed. All participants completed the relevant questionnaires at pretest, posttest, and one month later, and no sample attrition occurred. The age range was 22–56 years in the intervention group and 22–63 years in the control group. The results of the independent-samples t-test showed no significant difference between the two groups in terms of age and mean pain intensity. The results of the chi-square test showed that the distribution of gender, marital status, religious beliefs, occupational status, independence status, medication use, non-pharmacological treatments, bereavement experience, and having children was not significantly different between the two groups. The result of the Mann-Whitney U test also showed that economic status

and educational level did not differ significantly between the two groups (Table 1).

Table 1

Demographic and clinical characteristics of participants in the two groups

Variable	Variable level	Intervention group	Control group	Statistic	Effect size	P
Age	—	34.86 ± 10.63	34.59 ± 10.32	Independent t-test	d = 0.27	0.93
Pain intensity	—	7.55 ± 1.33	7.41 ± 1.10	Independent t-test	d = 0.114	0.71
Gender	Female	11 (50.0%)	12 (54.5%)	Chi-square	V = 0.45	0.76
Gender	Male	11 (50.0%)	10 (45.5%)	Chi-square	V = 0.45	0.76
Marital status	Married	15 (68.2%)	14 (63.6%)	Chi-square	V = 0.139	0.43
Marital status	Single	6 (27.3%)	8 (36.4%)	Chi-square	V = 0.139	0.43
Marital status	Divorced	1 (4.5%)	0 (0.0%)	Chi-square	V = 0.139	0.43
Occupational status	Self-employed	5 (22.7%)	4 (18.2%)	Chi-square	V = 0.055	0.94
Occupational status	Homemaker	3 (13.6%)	4 (18.2%)	Chi-square	V = 0.055	0.94
Occupational status	Unemployed	8 (36.4%)	7 (31.8%)	Chi-square	V = 0.055	0.94
Occupational status	Employee	6 (27.3%)	7 (31.8%)	Chi-square	V = 0.055	0.94
Independence status	Living in another person's home	5 (22.7%)	5 (22.7%)	Chi-square	V = 0.095	1.00
Independence status	Independent living	17 (77.3%)	17 (77.3%)	Chi-square	V = 0.095	1.00
Economic status	Poor	4 (18.2%)	4 (18.2%)	Mann–Whitney U test	r = 0.036	0.81
Economic status	Moderate	12 (54.5%)	13 (59.1%)	Mann–Whitney U test	r = 0.036	0.81
Economic status	Good	6 (27.3%)	5 (22.7%)	Mann–Whitney U test	r = 0.036	0.81
Educational level	Diploma or lower	7 (31.8%)	8 (36.4%)	Mann–Whitney U test	r = 0.022	0.88
Educational level	Associate degree	5 (22.7%)	4 (18.2%)	Mann–Whitney U test	r = 0.022	0.88
Educational level	Bachelor's degree or higher	10 (45.5%)	10 (45.5%)	Mann–Whitney U test	r = 0.022	0.88
Medication use	Yes	5 (22.7%)	6 (27.3%)	Chi-square	V = 0.052	0.73
Non-pharmacological treatment	Yes	8 (36.4%)	10 (45.5%)	Chi-square	V = 0.093	0.54
Specific psychiatric disorder	Yes	0 (0.0%)	2 (9.1%)	Fisher's exact test	V ≈ 0.90	0.49
Bereavement experience	Yes	11 (50.0%)	10 (45.5%)	Chi-square	V = 0.095	0.76
Having children	Yes	15 (68.2%)	13 (59.1%)	Chi-square	V = 0.095	0.53
Religious beliefs	Yes	22 (100.0%)	22 (100.0%)	Chi-square	V = 0.095	1.00

The mean, standard deviation, and changes in distress tolerance scores over time in the two groups are presented in Table 2. The effects of the intervention on distress tolerance were analyzed using a mixed-design repeated-measures analysis of variance, with group, namely intervention versus control, as the between-subjects factor and time, namely pretest, posttest, and follow-up, as the within-subjects factor. This analysis showed a significant group × time interaction for distress tolerance, $F(2, 42) = 121.53$, $p < 0.001$, $\eta^2p = 0.924$, indicating that the intervention group showed significantly greater improvement over time than the control group.

Post hoc comparisons using the LSD test confirmed that the two groups did not differ significantly at pretest ($p = 0.65$). However, the intervention group obtained significantly higher distress tolerance scores at both posttest and follow-up compared with pretest ($p < 0.001$ for both comparisons). The difference between posttest and follow-up in the intervention group was not significant ($p = 0.12$), indicating the stability of the intervention effect over time. In contrast, the control group showed no significant fluctuation throughout the study ($p > 0.05$ for all pairwise comparisons). These findings, as detailed in Table 2, indicate that the intervention had a stable and positive effect on distress tolerance among patients with migraine.

Table 2*Changes in the scores of different domains of distress tolerance over time in the two groups*

Domain	Time	Intervention group, mean $\pm$ SD	Control group, mean $\pm$ SD	F	P	η^2p
Tolerance	Pretest	10.50 $\pm$ 2.11	10.59 $\pm$ 2.06	124.47	0.89	0.926
Tolerance	Posttest	13.05 $\pm$ 2.17	10.50 $\pm$ 2.32	124.47	<0.001	0.926
Tolerance	Follow-up	12.09 $\pm$ 2.62	10.55 $\pm$ 2.36	124.47	0.046	0.926
Absorption	Pretest	10.64 $\pm$ 1.81	10.68 $\pm$ 2.42	108.90	0.94	0.916
Absorption	Posttest	13.32 $\pm$ 2.06	10.68 $\pm$ 2.42	108.90	0.001	0.916
Absorption	Follow-up	12.18 $\pm$ 2.30	10.82 $\pm$ 2.67	108.90	0.08	0.916
Appraisal	Pretest	15.64 $\pm$ 3.33	16.45 $\pm$ 3.33	105.62	0.42	0.914
Appraisal	Posttest	21.14 $\pm$ 2.57	17.05 $\pm$ 2.97	105.62	0.001	0.914
Appraisal	Follow-up	20.05 $\pm$ 2.84	17.09 $\pm$ 2.43	150.62	0.001	0.914
Regulation	Pretest	7.99 $\pm$ 1.88	7.59 $\pm$ 1.53	43.44	0.43	0.813
Regulation	Posttest	9.91 $\pm$ 2.31	7.73 $\pm$ 1.58	43.44	0.001	0.813
Regulation	Follow-up	9.23 $\pm$ 1.93	7.64 $\pm$ 1.71	43.44	0.006	0.813
Total score	Pretest	40.27 $\pm$ 6.31	41.09 $\pm$ 6.72	121.53	0.68	0.924
Total score	Posttest	48.27 $\pm$ 7.24	40.95 $\pm$ 7.52	121.53	0.002	0.924
Total score	Follow-up	47.41 $\pm$ 6.93	41.45 $\pm$ 6.22	121.53	0.005	0.924

The mean, standard deviation, and changes in resilience scores over time in the two groups are presented in Table 3. The effects of the intervention on resilience were analyzed using a mixed-design repeated-measures analysis of variance, with group, namely intervention versus control, as the between-subjects factor and time, namely pretest, posttest, and follow-up, as the within-subjects factor. This analysis showed a significant group $\times$ time interaction for the total resilience score, $F(2, 42) = 221.44$, $p < 0.001$, $\eta^2p = 0.957$, indicating that the intervention group showed significantly greater improvement over time than the control group.

Post hoc comparisons using the LSD test confirmed that the two groups did not differ significantly at pretest ($p =$

0.92). However, the intervention group obtained significantly higher resilience scores at both posttest and follow-up compared with pretest ($p < 0.001$ for both comparisons). The difference between posttest and follow-up in the intervention group was also significant ($p < 0.001$), indicating a slight but significant decrease at follow-up compared with posttest; nevertheless, follow-up scores remained significantly higher than pretest scores. In contrast, the control group showed no significant fluctuation throughout the study ($p > 0.05$ for all pairwise comparisons). These findings, as detailed in Table 3, indicate that the intervention had a stable and positive effect on resilience among patients with migraine.

Table 3*Changes in the scores of different domains of resilience over time in the two groups*

Domain	Time	Intervention group, mean $\pm$ SD	Control group, mean $\pm$ SD	F	P	η^2p
Perception of personal competence	Pretest	24.82 $\pm$ 4.18	25.36 $\pm$ 4.35	82.10	0.67	0.891
Perception of personal competence	Posttest	29.18 $\pm$ 4.70	25.00 $\pm$ 4.39	82.10	<0.001	0.891
Perception of personal competence	Follow-up	26.91 $\pm$ 4.20	25.23 $\pm$ 4.54	82.10	0.002	0.891
Trust in personal instincts	Pretest	22.45 $\pm$ 5.39	21.86 $\pm$ 4.05	123.03	0.68	0.925
Trust in personal instincts	Posttest	26.55 $\pm$ 5.11	21.91 $\pm$ 4.17	123.03	<0.001	0.925
Trust in personal instincts	Follow-up	24.86 $\pm$ 4.85	22.59 $\pm$ 4.05	123.03	0.009	0.925
Positive acceptance of change and secure relationships	Pretest	16.00 $\pm$ 3.66	15.68 $\pm$ 2.99	119.20	0.75	0.923
Positive acceptance of change and secure relationships	Posttest	18.91 $\pm$ 3.43	15.82 $\pm$ 2.99	119.20	<0.001	0.923
Positive acceptance of change and secure relationships	Follow-up	17.73 $\pm$ 3.22	15.36 $\pm$ 2.89	119.20	<0.001	0.923

Control	Pretest	9.86 ± 2.29	9.64 ± 1.62	29.14	0.71	0.745
Control	Posttest	11.36 ± 2.10	9.36 ± 1.68	29.14	<0.001	0.745
Control	Follow-up	10.64 ± 1.96	9.32 ± 1.86	29.14	0.004	0.745
Spiritual influences	Pretest	6.23 ± 1.54	6.45 ± 1.40	16.66	0.61	0.561
Spiritual influences	Posttest	7.27 ± 1.67	6.32 ± 1.46	16.66	<0.001	0.561
Spiritual influences	Follow-up	6.77 ± 1.38	6.05 ± 1.81	16.66	0.004	0.561
Total score	Pretest	79.36 ± 15.64	79.00 ± 11.00	221.44	0.92	0.957
Total score	Posttest	93.27 ± 14.51	78.41 ± 10.89	221.44	<0.001	0.957
Total score	Follow-up	86.91 ± 12.56	78.55 ± 10.71	221.44	<0.001	0.957

4. Discussion

The present study aimed to determine the effectiveness of spirituality therapy on distress tolerance and resilience in patients with migraine. The findings showed that, before the intervention, the intervention and control groups were statistically homogeneous in terms of demographic and clinical characteristics, including age, pain intensity, gender, marital status, occupational status, independence status, economic status, educational level, medication use, non-pharmacological treatment history, psychiatric history, bereavement experience, having children, and religious beliefs. This baseline homogeneity strengthens the internal validity of the findings and indicates that the subsequent changes in distress tolerance and resilience can be attributed more confidently to the spirituality therapy intervention rather than to pre-existing differences between the groups. The results of repeated-measures analysis of variance demonstrated a significant group × time interaction for distress tolerance, indicating that patients in the intervention group experienced a substantial increase in distress tolerance from pretest to posttest and that this improvement remained stable at the one-month follow-up. The control group did not show significant changes over time. These findings suggest that spirituality therapy was effective in improving the patients' perceived capacity to tolerate negative emotional states, endure migraine-related distress, and regulate emotional reactions to pain. This result is consistent with previous evidence showing that distress tolerance is meaningfully related to headache severity in migraine patients and that lower tolerance for emotional distress may intensify the subjective burden of headache symptoms (Ozturk & Sertel Berk, 2022). It is also consistent with research confirming the relevance of distress tolerance assessment in headache populations, particularly among individuals experiencing recurrent pain and psychological strain (Tofangchi et al., 2022). Therefore, the improvement

observed in the present study can be interpreted as a clinically meaningful change in the emotional coping capacity of patients with migraine.

The significant improvement in distress tolerance may be explained by the content and mechanisms of the spirituality therapy protocol. Migraine patients often experience fear of recurrence, helplessness, frustration, guilt, and emotional exhaustion, all of which may reduce their ability to remain psychologically stable during pain episodes. Spirituality therapy in this study addressed these emotional and existential burdens through meaning-making, self-compassion, acceptance of suffering, reconstruction of maladaptive spiritual beliefs, forgiveness, gratitude, spiritual meditation, and group-based emotional sharing. These elements may have helped patients reinterpret migraine not merely as uncontrollable suffering but as an experience that can be faced with inner resources, meaning, connection, and hope. This explanation aligns with research showing that spirituality can influence pain, function, and coping among individuals with chronic pain (Ferreira-Valente et al., 2020). It is also supported by evidence indicating that spiritual wellbeing is related to pain perception and pain catastrophizing, suggesting that spiritual resources may alter the way patients appraise and tolerate pain-related distress (Luedtke & Wachholtz, 2025). In addition, studies on cancer-related pain have shown that spirituality may shape patients' experiences of suffering and coping through meaning, connectedness, and existential interpretation (Miller et al., 2024). Similarly, the mediating role of meaning in life and pain coping strategies in the association between spirituality and pain supports the view that spiritual intervention can improve distress tolerance by strengthening meaning-oriented coping processes (Krok et al., 2025).

Another important finding of the present study was the significant improvement in resilience among patients who received spirituality therapy. The intervention group showed a marked increase in total resilience from pretest to posttest, and although there was a slight decrease at follow-up

compared with posttest, follow-up scores remained significantly higher than baseline. This pattern indicates that spirituality therapy had a positive and relatively stable effect on resilience, although continued practice may be necessary to maintain the maximum post-intervention gains. This finding is consistent with previous evidence demonstrating that resilience is a key psychological factor in migraine. Buse et al. reported that resilience is associated with stress and headache-related disability, suggesting that resilient patients may be better able to manage migraine-related stress and maintain functioning despite recurrent attacks (Buse et al., 2020). Likewise, studies on psychological factors in migraine have emphasized that resilience, coping style, stress regulation, and emotional processes are important determinants of symptom experience and disability (Yu & Tan, 2024). The present result also aligns with research showing that Acceptance and Commitment Therapy can improve resilience in migraine patients, indicating that resilience is not a fixed trait but a modifiable psychological resource responsive to structured intervention (Esmaeili et al., 2021).

The effect of spirituality therapy on resilience can be explained through several therapeutic pathways. First, the intervention helped patients reconstruct their relationship with illness by reducing guilt, self-blame, hopelessness, and fear of the future. Second, it encouraged patients to identify spiritual values, sources of meaning, and personal strengths that could support them during migraine attacks. Third, it included practices such as prayer, meditation, gratitude, forgiveness, emotional journaling, and spiritual self-reflection, which may strengthen psychological flexibility and adaptive recovery after distress. These mechanisms are consistent with systematic review evidence showing that spiritual and religious interventions can improve resilience in patients with chronic diseases (Dehghani et al., 2021). They also accord with meta-analytic evidence indicating a positive relationship between spirituality or religiosity and resilience across different populations (Schwalm et al., 2022). In older adults with chronic illness, spirituality and religiosity have been identified as sources of resilience by providing meaning, hope, acceptance, and perceived support during illness-related adversity (Abu et al., 2026). Therefore, the present findings extend this body of evidence to patients with migraine and suggest that spirituality therapy may help transform the chronic experience of migraine into a context for adaptive meaning-making and psychological strengthening.

The findings also support the relevance of culturally grounded spirituality therapy in Iranian clinical contexts. In the present study, all participants reported religious beliefs, and the intervention was designed in a manner compatible with patients' spiritual and cultural background. This cultural fit may have increased engagement, emotional openness, and the perceived relevance of therapeutic exercises. Previous Iranian studies have similarly shown that spirituality-based interventions can improve resilience and psychological functioning in chronic pain and chronic illness populations. For example, spiritual therapy based on Iranian culture has been found effective in improving resilience among patients with chronic pain (Haddadi Kuhsar et al., 2019). Spirituality therapy has also been shown to improve resilience in patients with multiple sclerosis (Karimi et al., 2020) and psychological distress and resilience in patients with thalassemia (Yousefian et al., 2020). In headache-related research, Islamic spirituality-based treatment has demonstrated effects on distress tolerance, stress, anxiety, and depression among women with tension headaches (Kajbaf et al., 2017). These aligned findings suggest that spirituality therapy can be particularly effective when it is delivered in a culturally sensitive way and when it resonates with patients' values, beliefs, and lived experiences.

The present findings should also be interpreted in light of the broader psychological burden of migraine. Migraine is associated with repeated disruption of daily life, occupational limitations, social withdrawal, and healthcare use, which together increase psychological vulnerability and reduce adaptive capacity (Gendolla et al., 2024). Qualitative evidence has shown that patients experience migraine as a condition that affects identity, relationships, autonomy, and emotional life, not only as a neurological disorder (Estave et al., 2021). Psychological factors such as stress, emotional reactivity, catastrophizing, and coping difficulties are also associated with headache frequency, intensity, and disability (Klonowski et al., 2022). Accordingly, interventions that target only physical symptoms may not be sufficient for patients whose migraine is accompanied by emotional distress, existential concerns, and reduced resilience. The current study supports the view that psychological-spiritual care can complement medical treatment by addressing the emotional and meaning-related dimensions of migraine. This interpretation is consistent with systematic evidence showing the effectiveness of patient education and cognitive-behavioral treatment as non-pharmacological interventions for migraine (Meise et al., 2022), as well as evidence indicating that mindfulness-based interventions

can benefit migraine patients by improving awareness, acceptance, and stress regulation (Liao et al., 2025). Spirituality therapy may share some mechanisms with these interventions, such as acceptance, attentional regulation, and emotional awareness, while also adding specific spiritual mechanisms such as divine trust, meaning reconstruction, forgiveness, and connection with transcendent values.

The results of this study further correspond with evidence showing that spirituality and psychological interventions are increasingly recognized as relevant components of pain management. A systematic review of psychological interventions in physical pain emphasized the importance of targeting catastrophizing and resilience, both of which are closely related to how patients interpret and cope with pain (Leccese et al., 2025). Spiritual interventions in multimodal pain management have also been recommended when delivered ethically and in accordance with patients' preferences and beliefs (Kieselbach & Frede, 2024). The present intervention followed this logic by integrating spirituality with ongoing pharmacotherapy rather than replacing medical treatment. Furthermore, contemporary work on spirituality and mental health stresses the need to distinguish adaptive spirituality from maladaptive religious struggle and to address spiritual concerns carefully in psychotherapy (Dubey et al., 2025; Pargament & Exline, 2021). The spirituality therapy protocol used in this study addressed guilt, fear, self-dissatisfaction, disconnection from the world, and difficulties in accepting suffering, which are clinically relevant themes for patients living with chronic or recurrent pain. This is consistent with research showing that spirituality is associated with wellbeing and resilience across diverse populations facing adversity (Howard et al., 2023). It is also consistent with the theoretical foundation of the migraine-specific spirituality therapy package developed for patients with migraine, which was designed to affect pain intensity, pain catastrophizing, distress tolerance, and resilience (Sabeti, 2026).

Another explanatory point concerns the interaction between distress tolerance and resilience. Distress tolerance may help patients withstand immediate negative emotional states during migraine attacks, whereas resilience may support longer-term recovery, adaptation, and continuity of valued life activities. The simultaneous improvement of both variables in the present study suggests that spirituality therapy may have operated at both acute and enduring levels of psychological functioning. By training patients to tolerate emotional discomfort, reinterpret suffering, seek spiritual and social connection, and develop a continuing plan for

spiritual growth, the intervention may have reduced emotional vulnerability while strengthening adaptive recovery. Findings from intervention research on distress tolerance and resilience in other psychologically vulnerable populations also support the idea that these constructs are modifiable and responsive to structured therapeutic programs (Heydari et al., 2026). In migraine patients, meaning in life, perceived social support, spiritual well-being, pain catastrophizing, and quality of life have been shown to be interrelated, with pain self-efficacy playing a mediating role (Yousefi Afrashteh et al., 2023). Therefore, the effectiveness of spirituality therapy in the present study may reflect improvements in meaning, perceived inner control, and self-efficacy in coping with migraine-related distress.

5. Conclusion

In summary, the findings indicate that spirituality therapy, when added to pharmacotherapy, significantly improves distress tolerance and resilience in patients with migraine and that these effects remain evident at one-month follow-up. The intervention appears to have strengthened patients' capacity to endure negative emotional states, reconstruct the meaning of illness, reduce maladaptive spiritual and emotional interpretations, and maintain adaptive functioning despite recurrent pain. These results are consistent with previous studies on migraine, chronic pain, spirituality, distress tolerance, and resilience, and they support the integration of culturally sensitive spirituality therapy into comprehensive care programs for patients with migraine.

The present study had several limitations that should be considered when interpreting the findings. First, the sample size was relatively small and included patients from selected neurology and counseling centers in Bam, which may limit the generalizability of the results to broader migraine populations in other cities or healthcare settings. Second, although the study included a one-month follow-up, this period was short and does not allow firm conclusions about the long-term durability of the intervention effects. Third, the study relied on self-report questionnaires, which may be influenced by response bias, social desirability, or participants' expectations from the intervention. Fourth, although the groups were homogeneous at baseline, the non-random selection of centers may have introduced environmental differences that could not be fully controlled. Fifth, the control group received pharmacotherapy only and

did not receive an active psychological placebo or alternative group intervention, making it difficult to separate the specific effects of spirituality therapy from nonspecific factors such as group support, therapist attention, and therapeutic expectation.

Future studies should replicate this research with larger samples, multi-center designs, and more diverse clinical populations to increase the external validity of the findings. Longer follow-up periods, such as three months, six months, and one year, are recommended to determine whether the effects of spirituality therapy remain stable over time. Future research should also compare spirituality therapy with other active psychological interventions, such as cognitive-behavioral therapy, mindfulness-based therapy, acceptance and commitment therapy, or compassion-focused therapy, to clarify its relative and specific effectiveness. It is also suggested that future studies examine possible mediating variables, such as meaning in life, pain catastrophizing, spiritual well-being, perceived social support, self-compassion, and pain self-efficacy, to identify the mechanisms through which spirituality therapy improves distress tolerance and resilience. Combining quantitative outcomes with qualitative interviews may also provide a deeper understanding of patients' lived experiences and the specific spiritual processes that contribute to therapeutic change.

In clinical practice, spirituality therapy can be considered as a complementary intervention alongside standard medical treatment for patients with migraine, particularly for individuals who experience emotional distress, reduced resilience, hopelessness, guilt, or difficulty coping with recurrent pain. Healthcare providers should assess patients' willingness to engage in spiritual or meaning-oriented interventions before implementation and should ensure that the therapy is delivered in a respectful, non-coercive, and culturally sensitive manner. Neurology clinics and counseling centers may benefit from interdisciplinary collaboration between neurologists, psychologists, counselors, and trained spirituality therapists to provide integrated care for patients with migraine. The intervention should emphasize emotional regulation, acceptance, meaning-making, self-compassion, hope, interpersonal support, and continuity of spiritual practices after treatment. Training therapists in ethically responsive spirituality-based care is also recommended so that spiritual themes can be addressed clinically without imposing beliefs or replacing evidence-based medical treatment.

Authors' Contributions

Authors equally contributed to this article.

Declaration

In order to correct and improve the academic writing of our paper, we have used the language model ChatGPT.

Transparency Statement

Data are available for research purposes upon reasonable request to the corresponding author.

Acknowledgments

We would like to express our gratitude to all individuals helped us to do the project.

Declaration of Interest

The authors report no conflict of interest.

Funding

According to the authors, this article has no financial support.

Ethical Considerations

This study was conducted after obtaining approval from the Research Ethics Committee of Islamic Azad University, Najafabad Branch, under the code IR.IAU.NAJAFABAD.REC.1402.191, and after registration in the Iranian Registry of Clinical Trials under the number IRCT20251021067705N2. At all stages of the research, ethical considerations, including obtaining written and verbal informed consent from the participants, maintaining the confidentiality of information, and allowing participants to withdraw from the study at any stage, were observed in accordance with the principles of the Declaration of Helsinki.

References

- Abu, H. O., Oyedotun, O., Bey, G., Thompson, T., Main, Z., Dunderdale, C., Khan, L., Hutton, S., Salmoirago, E., Gurwitz, J. H., Dosa, D., Kapoor, A., & Puchalski, C. (2026). Spirituality and Religiosity as Sources of Resilience in Older Adults With Chronic Illness: A Mixed Methods Systematic Review. *Journal of the American Geriatrics Society*, 74(4), 1141-1162. <https://doi.org/10.1111/jgs.70293>
- Buse, D. C., Armand, C. E., Charleston, L. T., Reed, M. L., Fanning, K. M., & Lipton, R. B. (2020). Resilience, Stress,

- and Headache-Related Disability in Migraine: A Cross-Sectional Study. *Headache*, 60(7), 1304-1318. <https://doi.org/10.1111/head.13855>
- Dehghani, M., Zarei, A., Nazari, M., & Bahrami, M. (2021). The Effectiveness of Spiritual/Religious Interventions on Resilience in Patients with Chronic Diseases: A Systematic Review and Meta-Analysis. *Journal of religion and health*, 60(4), 2661-2683. <https://doi.org/10.1007/s10943-021-01234-8>
- Dubey, M. J., Ghosh, R., Das, G., Roy, D., Das, S., Chakraborty, A. P., Chatterjee, S., Dubey, S., & Benito-Leon, J. (2025). Beyond Belief and Practice: An Exploratory Literature Review and Discussion of the Differential Impact of Spirituality and Religiosity on Mental Health Disorders. *Journal of religion and health*, 64(3), 1876-1889.
- Esmaili, N., Asgari, P., Khorami, N. S., & Bakhtiarpour, S. (2021). Effectiveness of Acceptance and Commitment Therapy on Perfectionism and Resilience in Migraine Patients. *International Archives of Health Sciences*, 8(3), 138-142.
- Estave, P. M., Beeghly, S., Anderson, R., Margol, C., Shakir, M., George, G., Berger, A., O'Connell, N., Burch, R., Haas, N., Powers, S. W., Seng, E., Buse, D. C., Lipton, R. B., & Wells, R. E. (2021). Learning the Full Impact of Migraine through Patient Voices: A Qualitative Study. *Headache*, 61(7), 1004-1020. <https://doi.org/10.1111/head.14151>
- Ferreira-Valente, A., Damiao, C., Pais-Ribeiro, J., & Jensen, M. P. (2020). The Role of Spirituality in Pain, Function, and Coping in Individuals with Chronic Pain. *Pain Medicine*, 21(3), 448-457.
- Gendolla, A., Brown, J. D., Mercadante, A. R., Drakeley, S., Sternbach, N., Jenkins, A., Hygge Blakeman, K., & Coppola, G. (2024). The Incremental Burden and Healthcare Resource Utilization among People with Migraine in Europe: Insights from the 2020 European National Health and Wellness Survey. *Cephalalgia*, 44(12), 3331024241276415. <https://doi.org/10.1177/03331024241276415>
- Haddadi Kuhsar, A. A., Moradi, A., Ghobari Bonab, B., & Imani, F. (2019). The Effectiveness of Spiritual Therapy Based on Iranian Culture on Resilience in Patients with Chronic Pain. *Journal of Health Psychology*, 7(28), 113-132. <https://sid.ir/paper/375428/fa>
- Heydari, S., Jahan, F., Sotodehasl, N., & Mehrafzoon, D. (2026). Comparing the Effectiveness of the Intolerance of Uncertainty Therapy and Emotion-Oriented Therapy Based on Compassion on Psychological Coherence, Resilience and Distress Tolerance in Divorcing Women. *Journal of Modern Psychological Researches*, 21(81), 71-88.
- Howard, A. H., Roberts, M., Mitchell, T., & Wilke, N. G. (2023). The Relationship between Spirituality and Resilience and Well-Being: A Study of 529 Care Leavers from 11 Nations. *Adversity and Resilience Science*, 4(2), 177-190. <https://doi.org/10.1007/s42844-023-00088-y>
- Kajbaf, M. B., Hoseini, F., Ghamarani, A., & Razazian, N. (2017). Comparison of Effectiveness of Quality of Life Therapy and Treatment Based on Islamic Spirituality on Distress Tolerance, Stress, Anxiety, and Depression in Women with Tension Headaches. *Journal of Clinical Psychology*, 9(1), 71-88. <https://sid.ir/paper/203244/en>
- Karimi, H., Ahadi, H., Borjali, A., & Hatami, M. (2020). Comparison of the Effectiveness of Spirituality Therapy and Mindfulness on Cortisol Level and Resiliency in Patients with Multiple Sclerosis. *medical journal of mashhad university of medical sciences*, 63(5), 2757-2767. <https://doi.org/10.22038/mjms.2020.17305>
- Kieselbach, K., & Frede, U. (2024). Spiritual Interventions in Multimodal Pain Management. *Der Schmerz*, 38(5), 304-316. <https://doi.org/10.1007/s00482-024-00788-z>
- Klonowski, T., Kropp, P., Straube, A., & Ruscheweyh, R. (2022). Psychological Factors Associated with Headache Frequency, Intensity, and Headache-Related Disability in Migraine Patients. *Neurological Sciences*, 43(2), 1255-1266.
- Krok, D., Telka, E., & Moron, M. (2025). Spirituality and Pain among Post-Treatment Cancer Patients in Poland: Mediation by Meaning in Life and Pain Coping Strategies. *Journal of religion and health*, 64(6), 4533-4556. <https://doi.org/10.1007/s10943-025-02358-8>
- Leccese, A., Severo, M., Ventriglio, A., Petrocchi, S., Limone, P., & Petito, A. (2025). Psychological Interventions in Patients with Physical Pain: A Focus on Catastrophizing and Resilience-A Systematic Review. *Healthcare*, 13(6). <https://doi.org/10.3390/healthcare13060581>
- Liao, Y. C., Chen, W. S., Restya, W. P. D., Liao, Y. C., Lin, Y. C., & Lin, R. T. (2025). Effectiveness and Influence of Mindfulness-Based Intervention on Migraine Patients: A Systematic Review and Meta-Analysis. *Journal of psychosomatic research*, 197, 112366. <https://doi.org/10.1016/j.jpsychores.2025.112366>
- Luedtke, D., & Wachholtz, A. (2025). The Relationship between Spiritual Wellbeing, Pain Catastrophizing, and Pain Perception: An Exploration of Pain Perception in Individuals with Chronic Pain. *Journal of Health Psychology*, 30(12), 3459-3474. <https://doi.org/10.1177/13591053251314937>
- Meise, R., Schwarz, A., & Luedtke, K. (2022). Effectiveness of Patient Education and Cognitive Behavioural Treatment as a Non-Pharmacological Intervention for Migraine in Adults: A Systematic Review. *Sn Comprehensive Clinical Medicine*, 4(1), 197. <https://doi.org/10.1007/s42399-022-01241-z>
- Miller, M., Speicher, S., Hardie, K., Brown, R., & Rosa, W. E. (2024). The Role of Spirituality in Pain Experiences among Adults with Cancer: An Explanatory Sequential Mixed Methods Study. *Supportive Care in Cancer*, 32(3), 169.
- Mohammadi, P., Khodamorovati, M., Vafae, K., Hemmati, M., Darvishi, N., & Ghasemi, H. (2023). Prevalence of Migraine in Iran: A Systematic Review and Meta-Analysis. *BMC Neurology*, 23(1), 172. <https://doi.org/10.1186/s12883-023-03215-5>
- Ozturk, G., & Sertel Berk, H. O. (2022). Distress Tolerance and Headache Severity in Migraine Patients. *Agri*, 34(2), 104-110. <https://doi.org/10.14744/agri.2021.91328>
- Pargament, K. I., & Exline, J. J. (2021). *Working with Spiritual Struggles in Psychotherapy: From Research to Practice*. Guilford Publications.
- Saber, A. (2026). *Developing a Spiritual Therapy Package for Migraine Patients and Evaluating Its Effectiveness on Pain Intensity, Pain Catastrophizing Rate, Distress Tolerance and Resilience of Sufferers* [Doctoral dissertation, Najafabad Branch, Islamic Azad University].
- Schwalm, F. D., Zandavalli, R. B., de Castro Filho, E. D., & Lucchetti, G. (2022). Is There a Relationship between Spirituality/Religiosity and Resilience? A Systematic Review and Meta-Analysis. *Journal of Health Psychology*, 27(5), 1218-1232. <https://doi.org/10.1177/13591053211000883>
- Tofangchi, M., Ghamarani, A., & Rezaei, H. (2022). The Psychometric Properties of Distress Tolerance Scale (DTS) in Women with Tension-Type Headaches. *Journal of Anesthesiology and Pain*, 12(4), 34-43.
- Tzankova, V., Becker, W. J., & Chan, T. L. H. (2023). Diagnosis and Acute Management of Migraine. *Canadian Medical Association Journal*, 195(4), E153-E158. <https://doi.org/10.1503/cmaj.211969>

- Yousefi Afrashteh, M., Abbasi, M., & Abbasi, M. (2023). The Relationship Between Meaning of Life, Perceived Social Support, Spiritual Well-Being and Pain Catastrophizing with Quality of Life in Migraine Patients: The Mediating Role of Pain Self-Efficacy. *BMC psychology*, 11(1), 17. <https://doi.org/10.1186/s40359-023-01053-1>
- Yousefian, Z., Ahadi, H., & Keraskian Mojmanari, A. (2020). The Effectiveness of Spirituality Therapy on Psychological Distress and Resilience of Thalassemia Patients. *Journal of Psychological Science*, 18(84), 2285-2293. <https://sid.ir/paper/527383/en>
- Yu, X., & Tan, G. (2024). Role of Psychological Factors in Migraine. *Cureus*, 16(12), e75858. <https://doi.org/10.7759/cureus.75858>